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AABCIZBWT, RIEEENS
b2 =a’+c?—2accos60° =a’+ct—ac=(a’—2ac+ch)+ac

EoT ac=b’—(a—c)? W22 ac=(b+a—c)b—a+c)
azc L LTE—MBEEEDRNNS, axc & T5L b+a—c=b—a+c
a, clIFEHTHE06, a, b, c OFITIFROFEDERAINEZ 5N B,

1] b+a—c=a, b—a+c=c

2] b+a—c=ac, b—a+c=1

ok x b+a—c=a 5 c=b b—a+c=chH a=b
£oT a=b=c

Rlorx 2AMN6 b EEETHE —2a+2c+ac—1=0
Wz alc—2)+2c—2)+3=0 k5T (a+2)(c—2)=-3

a+2, c—2XEIIBHTHY, a+2>0 THENH a+2=3, c—2=-1
£oT a=c=1
Zhit a, c NEBTHDLVIEEEH IR,
UENS, a, b, clE[1]DHBAOBEFZERERE~ZL, 2D X AABCIZE=ZAKTH
%,




